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MATHS

BOOKS - NAVBODH MATHS (HINGLISH)

INTEGRATION

Solved Examples

1 If f'(z) = k(cosz — sinz), f'(0) = 3, f(%) — 15,

find f(x)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IJ0wUoLIaZG4

z+1

2. Integrate the following w.r.t.x x:
(z + 2)(x + 3)

° Watch Video Solution

1

3. ——
1 —coszx

° Watch Video Solution

1

4. — 5
SInx. Cos* T

° Watch Video Solution

5.sin7x.cos 3x

[ o


https://dl.doubtnut.com/l/_71x6uLnz0pqT
https://dl.doubtnut.com/l/_Babfay2ikQmo
https://dl.doubtnut.com/l/_90WKkIJxqUYS
https://dl.doubtnut.com/l/_LC17ygHxqinS

l & Watch Video Solution

6.cos’

o Watch Video Solution

7. Integrate the following w.rtx x: sec” z. tanz

o Watch Video Solution

1

8.
z. logx. log(log x)

° Watch Video Solution



https://dl.doubtnut.com/l/_LC17ygHxqinS
https://dl.doubtnut.com/l/_jhwouAhzRm8E
https://dl.doubtnut.com/l/_qw9t0UDSFX11
https://dl.doubtnut.com/l/_aL7lvIxwSPXE

sin \/x

9. :

Jz

° Watch Video Solution

10. Integrate the following w.r.tx.:
z2. tan ! (:c3)

14 26

° Watch Video Solution

sec8 X

1.

cosec X

° Watch Video Solution



https://dl.doubtnut.com/l/_apj9p80ohWZQ
https://dl.doubtnut.com/l/_65Y1HI4y0DH4
https://dl.doubtnut.com/l/_bZQXY1wl4RkH

vianz

12. —
sinx. cos

° Watch Video Solution

1

3. —
l1+e

° Watch Video Solution

14. Integrate the following w.r.tx.:

log(z + 2) — logx
z(z + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_oMPr44eiqTxJ
https://dl.doubtnut.com/l/_rST6H567Vk6l
https://dl.doubtnut.com/l/_g7DXF5fOnrCy

1

15. 1
sin®® + cos? z

° Watch Video Solution

1 + cos4x

16.
cotx — tanx

° Watch Video Solution

1

\/Sin3 z.sin(x + a)

17.

o Watch Video Solution

18. Integrate the following w.r.t.x:

x2v/a? + 2



https://dl.doubtnut.com/l/_ymgaNsecfgGW
https://dl.doubtnut.com/l/_pgQYJl9VQat1
https://dl.doubtnut.com/l/_pgrFSe7Al9fM
https://dl.doubtnut.com/l/_FTIIfgU7Ta7U

° Watch Video Solution

a—zx
19.

Wi

° Watch Video Solution

20. Integrate the following w.r.t.x.

2sinx + 3cosx

3sinx + 4cosx

° Watch Video Solution

4e® — 25

21
2e* — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_FTIIfgU7Ta7U
https://dl.doubtnut.com/l/_2viDG0XMOq4V
https://dl.doubtnut.com/l/_HBv7jupaC96x
https://dl.doubtnut.com/l/_qF1SyCF953Pr

1

22, ——
1 —cotzx

° Watch Video Solution

23. Integrate the following w.r.t.x.

sin(z + a)

cos(z — b)

° Watch Video Solution

1
24. Evaluate: / dx
cos(z — a)cos(z — b)

° Watch Video Solution



https://dl.doubtnut.com/l/_qF1SyCF953Pr
https://dl.doubtnut.com/l/_V2TmKe93Fw6k
https://dl.doubtnut.com/l/_Y9J7SOlSilv9
https://dl.doubtnut.com/l/_sbLAgB39iQUw

25. Integrate the following wrtx. sin® z

° Watch Video Solution

26.tan’

o Watch Video Solution

27.sec® z

° Watch Video Solution



https://dl.doubtnut.com/l/_Znc6GWlq9YQ5
https://dl.doubtnut.com/l/_HdWxiZo6TFG6
https://dl.doubtnut.com/l/_hxtmSZ20qu6s

28. Integrate the following w.r.t x.

1
x2 +4x + 8

° Watch Video Solution

1

29.
7+ 6 — 2

° Watch Video Solution

1

30.
aet + be~ %

° Watch Video Solution



https://dl.doubtnut.com/l/_aV6ISOwClLoC
https://dl.doubtnut.com/l/_6FvX2HHspucE
https://dl.doubtnut.com/l/_kjXNQQBiLwt1

31. Integrate the following w.r.t.x.

1
V@ -2 3

° Watch Video Solution

1

32.Integrate :-

V15 + 4z — 422

° Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_xR0WOJA90KNJ
https://dl.doubtnut.com/l/_mbkf9pXC4QWG
https://dl.doubtnut.com/l/_VvphXohVXf2u

34.Integrate the following w.r.t.x.

1
T [6(10g z)’ + 7(logz) + 2]

° Watch Video Solution

CoOs T — sinx

35.
\/8 — sin2x

° Watch Video Solution

sinx

sin 3x

° Watch Video Solution



https://dl.doubtnut.com/l/_0zb6R8vqet4F
https://dl.doubtnut.com/l/_QsPv21o8FtBu
https://dl.doubtnut.com/l/_JampqbBAzXQr

37. Integrate the following w.r.t.x:

2¢ + 3
2r2 + 3z — 1

° Watch Video Solution

° Watch Video Solution

1
3+ 2sinx + cos x

39. Integrate the following w.r.t.x.

° Watch Video Solution



https://dl.doubtnut.com/l/_Mu9OooH1GfUv
https://dl.doubtnut.com/l/_G4jMB31MQN4B
https://dl.doubtnut.com/l/_mYobWbb96PB2

1
"3+ 5coszx

40

° Watch Video Solution

1

41.
2 — 3sin2x

° Watch Video Solution

1

42,
1 + cos a. cos x

° Watch Video Solution

43. Integrate the following w.rtx. x logx

[ &



https://dl.doubtnut.com/l/_4oWE5IRYrtJq
https://dl.doubtnut.com/l/_HEy6LX1D56fX
https://dl.doubtnut.com/l/_fsHjEG9gdeD1
https://dl.doubtnut.com/l/_mwdNITeXAUxX

[ W Watch Video Solution

sec2z — 7

sin’

° Watch Video Solution

x
45, [———d
/1—|—cos2m v

° Watch Video Solution

46. Integrate the following w.r.t.x.

log x

° Watch Video Solution



https://dl.doubtnut.com/l/_mwdNITeXAUxX
https://dl.doubtnut.com/l/_0ksWKZcayz7G
https://dl.doubtnut.com/l/_ARG5s4czz8TA
https://dl.doubtnut.com/l/_ckGuNFGYEVcc

47.sin ' z.

° Watch Video Solution

48. Integrate wrt. z, z2e>®

o Watch Video Solution

Z

49, ——
1+ sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_4tcX1omYcz2T
https://dl.doubtnut.com/l/_H2lKDav6VJ26
https://dl.doubtnut.com/l/_PBKryddFE4h9

50. Integrate the following w.r.t.x.

(logz)?

° Watch Video Solution

51.ﬁ0g(a: + vz + a2)daz

° Watch Video Solution

52. Integrate the following w.r.t.x.

rsin 'z

V1 — 22

° Watch Video Solution



https://dl.doubtnut.com/l/_jRx5nba8onN5
https://dl.doubtnut.com/l/_OXsraLwqrzLh
https://dl.doubtnut.com/l/_1nmqMk7RnceT
https://dl.doubtnut.com/l/_0PRmpqpGb2Bc

53.tan ! VvV

o Watch Video Solution

54.integral (e cos(bx + c))

° Watch Video Solution

55. /sin(log x)dz

o Watch Video Solution

56. sec’ z.

° Watch Video Solution



https://dl.doubtnut.com/l/_0PRmpqpGb2Bc
https://dl.doubtnut.com/l/_YYaA4edcYT3V
https://dl.doubtnut.com/l/_hi7H11EYzOJx
https://dl.doubtnut.com/l/_j9vOrN3Ys5Tk

57. Show that /em[f(:c) + f'(z)]dx = €e*. f(x) + ¢

2 in 2
Hence, evaluate: faa’ Stsinor dzx
1 + cos 2z

° Watch Video Solution

z + 3
58. ————e”dx is equal to

(z +4)°

° Watch Video Solution

59. /ésin_ 1 T

1—|—L dx
V1 — x2

° Watch Video Solution



https://dl.doubtnut.com/l/_j9vOrN3Ys5Tk
https://dl.doubtnut.com/l/_mGveyj594dkF
https://dl.doubtnut.com/l/_7pfqR3iUMu19
https://dl.doubtnut.com/l/_I3hsfjnyXnPm

log z
60. Evaluate: / & dz

(1+ logz)?

° Watch Video Solution

61.ﬁsin(10g z) + cos(logz)|dx

o Watch Video Solution

62. Integrate the following w.r.tx:
z? + 2
(z —1)(x + 2)(z + 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_rvZjv5ouJ6FN
https://dl.doubtnut.com/l/_C8vPa7Oz0LXj
https://dl.doubtnut.com/l/_mO6TFI3lcSFr

223 + 322 — 3

63
222 — ¢ — 1

o Watch Video Solution

64. Integrate the following w.r.t.x.

x2 + 2z + 6
(z +1)(x? 4+ 4)

° Watch Video Solution

1

65. ———
z3(1 — )

° Watch Video Solution



https://dl.doubtnut.com/l/_sjQKhSRRRbbG
https://dl.doubtnut.com/l/_79efdOcjBnwR
https://dl.doubtnut.com/l/_hm5cnKlJl2N9

w2

66. Integrate the following w.r.t.x.
8 8 (22 1 2)(222 + 1)

° Watch Video Solution

. 222 — 1
" (22 + 4) (22 - 5)

° Watch Video Solution

68. Integrate the following w.r.t.x.
3z +1
(z —2)*(z +2)

° Watch Video Solution



https://dl.doubtnut.com/l/_9nQpnKH8g1w2
https://dl.doubtnut.com/l/_vRYypIMbneHi
https://dl.doubtnut.com/l/_PFsAlEGJfCi5

8

69.
(z + 2) (22 + 4).

o Watch Video Solution

70. Evaluate ther following:

[

° Watch Video Solution

1+ logx
71./ dx
z(2 + logz)(3 + logx)

° Watch Video Solution



https://dl.doubtnut.com/l/_GVMb4VJtZIif
https://dl.doubtnut.com/l/_FDMfkVtHohYk
https://dl.doubtnut.com/l/_37nEVOPiSdXw

doé
72. |— -
/sm@ + sin 260

° Watch Video Solution

Theory Questions

1. if xz=4¢() and /f(:c)d:c = F(z) then
/f(¢(t))¢'(t)dt = (A) ¢(z) (B) F'(t) (C) F(z) (D) F'(z)

° Watch Video Solution

1 5 1 x
2./— —x°dxr = Ealog(a—l— =

= —CE)—l—C

° Watch Video Solution



https://dl.doubtnut.com/l/_JuvEv01w6My1
https://dl.doubtnut.com/l/_kQfKntg2HF8g
https://dl.doubtnut.com/l/_QAWNX6xHB8Qm

3. If u and v are two functions of x then prove that:

ﬁwdw = /vda: — /ld_u /)dw] dzx
dx

° Watch Video Solution

4

1 —— 1
/ o’ — 2’de = Ealr:\/a,2 —z? + §a2 sin_1<£) +c

° Watch Video Solution

5

1 1
/\/a2—|—x2 =37 a® + x* + Eazlog(a:—l— a® + 2% + ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_Ut6STSrl0xYi
https://dl.doubtnut.com/l/_hiCd9FuPPejR
https://dl.doubtnut.com/l/_6j0BGz9xqXBE

6

1 1
/\/:c2 —a? = 53}\/1'2 —a’® — Eazlog(a; +Vz2 —at +c

° Watch Video Solution

Example For Practice

1

1. —
z(x — 1)

o Watch Video Solution

2.cos’z

o Watch Video Solution



https://dl.doubtnut.com/l/_3ITkumNarr72
https://dl.doubtnut.com/l/_uUUXfkJ8067C
https://dl.doubtnut.com/l/_6qctkBlm5tee

3.(tanx — cot :L')2

° Watch Video Solution

1
4. - -
/1 + cos 2z

° Watch Video Solution

1
"1+ sinx

° Watch Video Solution

cos 2x
6./ ; de = 7
sin” x cos2 x


https://dl.doubtnut.com/l/_6qctkBlm5tee
https://dl.doubtnut.com/l/_T1JQWhlEPLp3
https://dl.doubtnut.com/l/_ZDKt7dgl1TZg
https://dl.doubtnut.com/l/_MrWcMcMQ7nu2
https://dl.doubtnut.com/l/_K7SEsPk58g1J

o Watch Video Solution

7.sin® 2

o Watch Video Solution

ec?(lo
8. /E (:1: 82) dx

o Watch Video Solution

1
9.
z(3 + logz)

° Watch Video Solution



https://dl.doubtnut.com/l/_K7SEsPk58g1J
https://dl.doubtnut.com/l/_eABX5cw30d3U
https://dl.doubtnut.com/l/_951sLaJKRMcN
https://dl.doubtnut.com/l/_r7tY4VAwLGSi
https://dl.doubtnut.com/l/_EsVNRkld6hho

eIB—l + xe—l
10./ dx e- dx
et + x¢€

° Watch Video Solution

z.sin ! x?

V1 — gt

1.

° Watch Video Solution

cos 2x

12. 5
(sinz + cos x)

° Watch Video Solution



https://dl.doubtnut.com/l/_EsVNRkld6hho
https://dl.doubtnut.com/l/_Bv9TJIXCt78T
https://dl.doubtnut.com/l/_gHYVuyBhM4v2
https://dl.doubtnut.com/l/_uFwQ9x6shDfh

| €@ Watch Video Solution

secx
14. Evaluate: /
log(secz + tanz)dx

° Watch Video Solution

1
15. Evaluate:/ dx
V1 - 22(2+ 3sin L z)

° Watch Video Solution

16. IHTHA SITd HIfIT |

e — 1

e + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_uFwQ9x6shDfh
https://dl.doubtnut.com/l/_ICNxz5YKKRb7
https://dl.doubtnut.com/l/_XrSFlbxWjpFM
https://dl.doubtnut.com/l/_Velx3LmqluD4

17.2%(1 + log )

° Watch Video Solution

8 /10:1:9 + 102" (log) ,.ndx
. z10 + 10°
10° + 2 + C(C) (10° — 2% ' 4+ C

log(le + zclo) +C

equals(A) 10° — z'° + C (B)

(D)

° Watch Video Solution

19. If fl(z) =42 — 32> + 2z + k

£(0) = 1, (1) = 4find f(x)

and

° Watch Video Solution



https://dl.doubtnut.com/l/_Velx3LmqluD4
https://dl.doubtnut.com/l/_eggZFny4Eq2y
https://dl.doubtnut.com/l/_Oix1Munq5t8c
https://dl.doubtnut.com/l/_RflkISc4IZUR

20. Integrate the following w.rt.x.

sin 2x

2

asin“z + bcos?

° Watch Video Solution

1

21. Evaluate:/ 7 dzx
sin“x + cost x

° Watch Video Solution

1

22.
cos3xr — cosx

° Watch Video Solution



https://dl.doubtnut.com/l/_RflkISc4IZUR
https://dl.doubtnut.com/l/_aCVB73D2TmGG
https://dl.doubtnut.com/l/_FL0LHBZNX40Z
https://dl.doubtnut.com/l/_LPJyqtL0McuU
https://dl.doubtnut.com/l/_70zTBEjWnl3L

x2 4+ 1

23.
xt+1

° Watch Video Solution

x2 — a2

24,
x

° Watch Video Solution

.’132

25. Evaluate: / dzx

(a2 — zc2)3/2

° Watch Video Solution

26.

(a? + :1:2)3



https://dl.doubtnut.com/l/_70zTBEjWnl3L
https://dl.doubtnut.com/l/_nSRkGeoM3OA0
https://dl.doubtnut.com/l/_XZu3OPkRqd8B
https://dl.doubtnut.com/l/_nKoqopPaIwHV

° Watch Video Solution

a—x

27./ a+xdw

° Watch Video Solution

sinx + 2cos
28

" 3sinx + 4cosx

° Watch Video Solution

1

29.
2+ 3tanx

° Watch Video Solution



https://dl.doubtnut.com/l/_nKoqopPaIwHV
https://dl.doubtnut.com/l/_21TJyM41auxT
https://dl.doubtnut.com/l/_3EmRjskmNJeR
https://dl.doubtnut.com/l/_kFCuhE7TORDX
https://dl.doubtnut.com/l/_wPjV0GnNf4mj

e?® 4+ 2% + 1
e.’B

30.

o Watch Video Solution

. 1
) 1+ tanx

° Watch Video Solution

1

32, ——
1 — cot 2z

o Watch Video Solution

cos 4x

" sin 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_wPjV0GnNf4mj
https://dl.doubtnut.com/l/_jNEzJRxZ8LzY
https://dl.doubtnut.com/l/_ZBRdKMhV5x6g
https://dl.doubtnut.com/l/_8vMgAkeHgz6w

e’(1+ x)

34,
sin(ze?)

° Watch Video Solution

COs

35.
cos(xz + a)

° Watch Video Solution

in(z — a)
36. Evaluate : /s,—dw
sin(z + a)

° Watch Video Solution



https://dl.doubtnut.com/l/_8vMgAkeHgz6w
https://dl.doubtnut.com/l/_tQWHLvVm8x9O
https://dl.doubtnut.com/l/_0MCZP3TMsGPD
https://dl.doubtnut.com/l/_1YcVfjqYoHDB

cos(x — a)
" sin(z + b)

° Watch Video Solution

1
38. Evaluate: d
valuate /sin(w — a)cos(x — b) v

° Watch Video Solution

39. / ( (sinz — a)lsin(m - b))dw

° Watch Video Solution

40.sin’ z



https://dl.doubtnut.com/l/_6rnzE12FwgTG
https://dl.doubtnut.com/l/_OjoRBQDrSVtp
https://dl.doubtnut.com/l/_XDDgR3ZBMDhf
https://dl.doubtnut.com/l/_Yrquo8QooeaO

° Watch Video Solution

41.cos* z

° Watch Video Solution

42.cot’

° Watch Video Solution

43.tan’

° Watch Video Solution



https://dl.doubtnut.com/l/_Yrquo8QooeaO
https://dl.doubtnut.com/l/_YSisBazWe60c
https://dl.doubtnut.com/l/_tegAt4Ss17tO
https://dl.doubtnut.com/l/_3yUNy7ylmc8C
https://dl.doubtnut.com/l/_cPBBFbSommbo

44. cosec’z

o Watch Video Solution

45. / dz
9z2 4 6z + 10

o Watch Video Solution

1

46.
1+ — 22

o Watch Video Solution

sinx
47, —
1+ cos?z

o Watch Video Solution



https://dl.doubtnut.com/l/_cPBBFbSommbo
https://dl.doubtnut.com/l/_clwTi9saDVAn
https://dl.doubtnut.com/l/_miBKvl7kQ8l2
https://dl.doubtnut.com/l/_zrsppgCLuDTQ

1

48. e3w + e—3a:

o Watch Video Solution

1
49,

ar — 2

° Watch Video Solution

1

50.
V2 — 8z — 20

o Watch Video Solution



https://dl.doubtnut.com/l/_zrsppgCLuDTQ
https://dl.doubtnut.com/l/_P7IvMhIb2Yad
https://dl.doubtnut.com/l/_3QkLJzIZFjIw
https://dl.doubtnut.com/l/_17VI5wQwuqCO

1

51.
V21 + 4z — 22

° Watch Video Solution

1

52.
V3 + dx — 42

° Watch Video Solution

am

V1 — qa?®

53.

° Watch Video Solution

sinx

. V36 — cos?

54



https://dl.doubtnut.com/l/_zEVAbjmuIljA
https://dl.doubtnut.com/l/_cdfv9QUoyvAL
https://dl.doubtnut.com/l/_kq0FYDPlvKnR
https://dl.doubtnut.com/l/_bYxgp7wnI3t0

I ° Watch Video Solution

55. Integrate the following w.r.t.x.

SGC2 X

2tan?z + Ttanz + 13

° Watch Video Solution

Cos T

56.
\/sin2x — 2sinx — 3

° Watch Video Solution

1
57.
14 3sin’z

° Watch Video Solution



https://dl.doubtnut.com/l/_bYxgp7wnI3t0
https://dl.doubtnut.com/l/_r2nb9lJsQkkk
https://dl.doubtnut.com/l/_jJZUTphS2D13
https://dl.doubtnut.com/l/_rc3QvUS6inX0

1
"3+ 2cos?zx

58

° Watch Video Solution

1

59. >
cos 2x + 3sin“ x

° Watch Video Solution

1
60. Examples: dx

14 3sin’z + 8cos2z

o Watch Video Solution

Cos T

cos 3x


https://dl.doubtnut.com/l/_rc3QvUS6inX0
https://dl.doubtnut.com/l/_MCqathfzEHtI
https://dl.doubtnut.com/l/_8u7qLIx1LaO2
https://dl.doubtnut.com/l/_XZAcjhl7kygH
https://dl.doubtnut.com/l/_9sOWjFmCanSg

o Watch Video Solution

3z +4
"x24+ 6z +5

62

o Watch Video Solution

Tx + 3
V3 + 22 — x2

63.

o Watch Video Solution

2¢ + 1
.\/:132+2x—|—3

° Watch Video Solution



https://dl.doubtnut.com/l/_9sOWjFmCanSg
https://dl.doubtnut.com/l/_ElxnySMOc0bU
https://dl.doubtnut.com/l/_vZ3SyM97oubP
https://dl.doubtnut.com/l/_1TnLZFjAgAGI
https://dl.doubtnut.com/l/_7W1xpMfrqCI9

V9 — x2

Z

65.

° Watch Video Solution

1
4+ 5sinx

66. Integerate

° Watch Video Solution

1
67.
1 —2sinx

° Watch Video Solution

1

68.
4 —5coszx

[ o WMiakl. \ Nt daa CaAliidkia


https://dl.doubtnut.com/l/_7W1xpMfrqCI9
https://dl.doubtnut.com/l/_toLCE0bwMXcC
https://dl.doubtnut.com/l/_nKJlLj6yQAPX
https://dl.doubtnut.com/l/_eNq8XpNw1LFT

L ¥Yvdlilll VIUCV JVIULIVII

1
69. Evaluate:
valuate /13—{—3cosa: —|—4sina:dw

° Watch Video Solution

1

0.
7 5+ 7cos2x

° Watch Video Solution

1

1.
7 3 — 5sin2x

o Watch Video Solution



https://dl.doubtnut.com/l/_eNq8XpNw1LFT
https://dl.doubtnut.com/l/_bqv30MIp4IgX
https://dl.doubtnut.com/l/_4KBYvB5a5zel
https://dl.doubtnut.com/l/_DXX2iNKv9Edm

1
3+ 2sin2x + 4 cos 2x

72.

° Watch Video Solution

1

73.
cosa + cosx

° Watch Video Solution

74. Integrate the following wrtx. ze”

° Watch Video Solution

75.x cos x

[ &



https://dl.doubtnut.com/l/_bmNibJSrzt6l
https://dl.doubtnut.com/l/_iLkXG3UQn6V8
https://dl.doubtnut.com/l/_AFVZXlZB0tbT
https://dl.doubtnut.com/l/_9C6fQOQgDJhj

[ ¥ \Watch Video Solution

76. x sin 2x

° Watch Video Solution

T
77. —
1 —cosx

° Watch Video Solution

78. Integrate the following w.r.t to x :

a:tanzw

o Watch Video Solution



https://dl.doubtnut.com/l/_9C6fQOQgDJhj
https://dl.doubtnut.com/l/_22sh6Oy9Jl13
https://dl.doubtnut.com/l/_BIbmK8M84Fzc
https://dl.doubtnut.com/l/_BQZu5aW1it5r
https://dl.doubtnut.com/l/_JAgeOZLsE21E

79. Integrate the function: z° log x.

° Watch Video Solution

80.tan 'z

° Watch Video Solution

8l.cos 'z

° Watch Video Solution

82.sec 'z

S


https://dl.doubtnut.com/l/_JAgeOZLsE21E
https://dl.doubtnut.com/l/_4yWeZK7Gt5XC
https://dl.doubtnut.com/l/_LczjxqSvtPcG
https://dl.doubtnut.com/l/_6XT4i3O8V6zK

| ¥ Vvatch Video Solution

8. Integrate the following w.r.tx.

xsin’

° Watch Video Solution

84. 2 cos’ x

° Watch Video Solution

85. T -+ sinx
1—coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_6XT4i3O8V6zK
https://dl.doubtnut.com/l/_2DmBh4yTcFcd
https://dl.doubtnut.com/l/_WjiK6JmNQiEP
https://dl.doubtnut.com/l/_jJPiZVJXERhC
https://dl.doubtnut.com/l/_eNytvC5CGBWJ

86. /132 sinxdzx

o Watch Video Solution

87.xsec 'z

o Watch Video Solution

88.zcot 'z

o Watch Video Solution

89.2%2cos 'z

| €8


https://dl.doubtnut.com/l/_eNytvC5CGBWJ
https://dl.doubtnut.com/l/_DtAu0KiK1CRp
https://dl.doubtnut.com/l/_ikdmU9bP2w8c
https://dl.doubtnut.com/l/_vtUMda8Cu0cx

| ¥ Watch Video Solution

90. sin® VT

o Watch Video Solution

1

91. Integration of cos ~ ~ xdx

° Watch Video Solution

92. log(w +v1+ w2)

° Watch Video Solution



https://dl.doubtnut.com/l/_vtUMda8Cu0cx
https://dl.doubtnut.com/l/_hLHjZOfPfJf9
https://dl.doubtnut.com/l/_jAWWixsFKpr5
https://dl.doubtnut.com/l/_Z6IZctFOLIE5

93. Integrate the following w.r.t x.

e’.coszx

° Watch Video Solution

94. 3. sin 4z

° Watch Video Solution

95. Evaluate: /9‘“” sin(bz + ¢) dx

° Watch Video Solution



https://dl.doubtnut.com/l/_7RsfcNhArLGf
https://dl.doubtnut.com/l/_Gg9wHR97nOX6
https://dl.doubtnut.com/l/_BBhs86Z4kCvr

96. cos(2log x)

° Watch Video Solution

97. cosec’z

° Watch Video Solution

dzx

/e“’ [1 +4/1 — z2sin ! .’13]
98.

1 — x2

° Watch Video Solution

99 w(cosa: —sinw)
.e

sin’


https://dl.doubtnut.com/l/_9w2HshJB4mDX
https://dl.doubtnut.com/l/_oc5psK4E1Rcn
https://dl.doubtnut.com/l/_ly18QOZYtBzu
https://dl.doubtnut.com/l/_S9vVs4LPxNtV

° Watch Video Solution

e”(1 — sinx)
100./ dz

1 — cosx

° Watch Video Solution

e X
101. Evaluate: /—2d:z:
(z +1)

° Watch Video Solution

—1
102. Evaluate: fzxw—?) dx
(x +1)

° Watch Video Solution



https://dl.doubtnut.com/l/_S9vVs4LPxNtV
https://dl.doubtnut.com/l/_YQkqwOQznB1d
https://dl.doubtnut.com/l/_YXsGQgDBcdH6
https://dl.doubtnut.com/l/_Y8DrPEiU09xn
https://dl.doubtnut.com/l/_G2ur2AF85UB3

1 2
103./e~’”. +—w2
(14 )

o Watch Video Solution

1 1
104 —

“logz (logz)?

° Watch Video Solution

2
logz — 1
105. Evalaute: / 5 | dz
1+ (logx)

° Watch Video Solution

106. etan_lm' 1+ < dx
14+ x2


https://dl.doubtnut.com/l/_G2ur2AF85UB3
https://dl.doubtnut.com/l/_zqz9cjsbyng4
https://dl.doubtnut.com/l/_gftl1jBNRyA1
https://dl.doubtnut.com/l/_0dCUCeS4bYVl

° Watch Video Solution

107. Integrate the following w.r.t.x.

Tz +1
24+ 52 +6

° Watch Video Solution

1
z(x — 2)(x — 4)

108.

° Watch Video Solution

x2 41
x2 — 5 + 6

109.

° Watch Video Solution



https://dl.doubtnut.com/l/_0dCUCeS4bYVl
https://dl.doubtnut.com/l/_TPsfnI8mMsr5
https://dl.doubtnut.com/l/_1rB3elvMI0s5
https://dl.doubtnut.com/l/_VUd7ZHCkhjrV

110. Integrate of Following w.r.t x

3 — 42?2 + 3z + 11

2 — 5 +6

° Watch Video Solution

/ x>+ 3z +5
m.
(z + 2)(x? + 2z + 3)

° Watch Video Solution

1 — 32

N2, ————
z(1 — z2)

° Watch Video Solution



https://dl.doubtnut.com/l/_VUd7ZHCkhjrV
https://dl.doubtnut.com/l/_ZvuH1MvUsk1Y
https://dl.doubtnut.com/l/_ekAab1LCUtAQ
https://dl.doubtnut.com/l/_rtQ3jasdzZQs

1

113.
z?(1 — 2x)

o Watch Video Solution

114. Integrate the following w.r.t.x.

2¢2 — 1
(22 + 5)(z2 + 4)

° Watch Video Solution

22
115./ dx
x4 4+ 522 + 6

° Watch Video Solution



https://dl.doubtnut.com/l/_gVmBUjxny0FT
https://dl.doubtnut.com/l/_CKzLQMYYSLum
https://dl.doubtnut.com/l/_hltHRBhBEMag

x2 +4

116. T

° Watch Video Solution

17 / z” +1 dx
S (a2 +2) (22 + 4)

° Watch Video Solution

118. Integrate the following w.r.t.x.
3z — 2
(z+1)*(z +2)

° Watch Video Solution



https://dl.doubtnut.com/l/_Lly7qVbq5PvN
https://dl.doubtnut.com/l/_fRnq7vnDTRRG
https://dl.doubtnut.com/l/_8kdwtv6C0BnB

22+ xz+1

119 -
(z —1)

° Watch Video Solution

20 + 7

120. -
(z —4)

° Watch Video Solution

Z

121.
(z —1)(z2 + 1)

° Watch Video Solution

b2

122.
( + 1)(a® + 4)



https://dl.doubtnut.com/l/_Q1fxK28ZYP4Q
https://dl.doubtnut.com/l/_UuPKAnybUWCA
https://dl.doubtnut.com/l/_vyIlyfbqBUMU
https://dl.doubtnut.com/l/_I2JXwXKd2gjM

° Watch Video Solution

1

123.
l1+ax+a?+a23

° Watch Video Solution

124. Integrate the following w.r.t.x.

sin 2z
(1 — cos2x)(2 — cos 2z)

° Watch Video Solution

1
125.
/a:. logz. (2 + logx)

° Watch Video Solution



https://dl.doubtnut.com/l/_I2JXwXKd2gjM
https://dl.doubtnut.com/l/_zuNaMUTuhaER
https://dl.doubtnut.com/l/_BkZsUmvDziqz
https://dl.doubtnut.com/l/_YqqVhyqxvh3q

Z

126. /(1 et e dz

° Watch Video Solution

127. / da
sinz(3 + 2cos )

° Watch Video Solution

(3sinxz — 2)cos
128. Evaluate:/ — dz
5—cos?x — 4sinz

° Watch Video Solution

Multiple Choice Questions


https://dl.doubtnut.com/l/_YqqVhyqxvh3q
https://dl.doubtnut.com/l/_Xz9wxAO7ZqAg
https://dl.doubtnut.com/l/_vhBNfvFUw4Sk
https://dl.doubtnut.com/l/_FkI2vqEzu3ky

1. Evaluate: (i) /2 ;;3 dx (ii) /(a—) dx

at b?

Answer: A

o Watch Video Solution

sin 3x
2./ . der = .....
sin x


https://dl.doubtnut.com/l/_xuIIkP8nrxDH
https://dl.doubtnut.com/l/_qfNzCj1QLWkK

A. X-sin 2x+c

B. x+sin 2x+c

C. x+cos 2x+c

D. x-cos 2x+c

Answer: B

° Watch Video Solution

3. Evaluate : /
1 4+ cos tac


https://dl.doubtnut.com/l/_qfNzCj1QLWkK
https://dl.doubtnut.com/l/_NbBl1ATeecxT

D. —2cot(§) +c

Answer: A

° Watch Video Solution

1+ sin2
4,/ 111:Cdac:...

v+ sin®

A.\/m+sin2m+c

1 —
B. —+/ 2 + sin

2 r +c

C.2v/z +sin’z + ¢

3
2

2 . 9
D.g(x—l—sm a:) +c

Answer: C

I ° W/at~h \NtAaA CAliikian


https://dl.doubtnut.com/l/_NbBl1ATeecxT
https://dl.doubtnut.com/l/_iTLma7bXdjkU

| § YVULNIL VINMGY JVIVGIVIE

5. Evaluate /6310”(:1:4 + 1) _1d:r;
A log'a:4 + 1’ +c
B ilo [zt + 1] + ¢
- 5 log
C i‘w‘l + 1’ +c
4

Dilo ‘m4—|—1‘—|—c
'3 g

Answer: C

° Watch Video Solution

1
6. [—.logxdx = .....
/ac ogxdzx


https://dl.doubtnut.com/l/_iTLma7bXdjkU
https://dl.doubtnut.com/l/_HQjpRcVFuqVy
https://dl.doubtnut.com/l/_s7sEUENggBLb

A.log(logz) + ¢
1

B. 5(10g:13)2 +c

C. 2log x+c

D. log x+c

Answer: B

° Watch Video Solution

A. secx-tanx+c

B. secx+tanx-x+c

C. sec-tanx-x+c


https://dl.doubtnut.com/l/_s7sEUENggBLb
https://dl.doubtnut.com/l/_RiVhJrEr7mOE

D. sec-tanx+x+c

Answer: B

o Watch Video Solution

T
1
1 4
A.—(1+—4) +c
T
5. Liog| -
.40gm4+1 +c
1 4
C.Elogw —|—1‘—|—c
3
1 1
T
Answer: A



https://dl.doubtnut.com/l/_RiVhJrEr7mOE
https://dl.doubtnut.com/l/_tnNqEn59iQMv

| ¥ Vvatch Video Solution

1 n
9. Write a value of /@ dzx

A 2 (loga)" +
- —(logz c

1

n+1

n+1

B. (logz)" ™" + ¢

1
c. 1 n+1
n(ogw) +c

1
n+1

D.

(logz)" + c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tnNqEn59iQMv
https://dl.doubtnut.com/l/_OtJXyF2SEmUB

10.

,then o + 248

:1:+\/:c2—ﬂ

dr = alog

1
If /—
Vazx? — 5

is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ydj7ksOvuKMQ

log(log z)
n If /—d:z: = klogz[l — log(z)] + ¢, then

Answer: D

o Watch Video Solution

1
12./ de = ....
4e* 4 9e 7



https://dl.doubtnut.com/l/_3ZbnVuPbc5NW
https://dl.doubtnut.com/l/_So81bzTOjB2D

2$
A.tan_l( ; ) +c

Blta,n_1 2e” +c
6 3

C. log'4ezm + 9‘ +c

1 _1(2690)
D. —tan +c

3 3

Answer: B

° Watch Video Solution

13. /(m +df)\/5 —

° Watch Video Solution



https://dl.doubtnut.com/l/_So81bzTOjB2D
https://dl.doubtnut.com/l/_Ddb4h8UNZO1c

14.Q12) If the antiderivative of f(x) is €' and antiderivative
of g (x) is cos x,then /f(ac)cos zdx + /q(x)exdac

A. f(x).g(x)+c

B. f(x)+g(x)+c

C.—e®cosz + ¢

D.e*cosx + ¢

Answer: D

o Watch Video Solution

1 1
15. — > |de =
logz  (loga)


https://dl.doubtnut.com/l/_Hq2SiNuIxcwO
https://dl.doubtnut.com/l/_gin6XAY6tpaz

T
A

. + c
log

B. x.logx+c

X
C. — +c
(logz)

D.e*.logx + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gin6XAY6tpaz

